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[*] Pressione e forza in funzione del tempo
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pA(t) = pmax' l-e

Phigh = Pa(t1)
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P(V) = | Phighe

Plow = PB(t3 — 1)

p(t) == pA(t) if 0<t< t
pB(t—tz) if th St<ty

PlOW if t3 StSt4

_Plow

ts_t4‘(t—t5) if ty <t<ts

0 otherwise
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= Asez' p(t)
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[«] Pressione e forza in funzione del tempo
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Integrazione per via numerica

ORIGIN = 1
M= 30 Keq = 5000 Ceq= 100
K
wi= |—L _ 12091 f= = —2055
eq 2Tt
C
= —3  _1291.%
2‘Meq-w
. 1 .
Atgons = 55T =0.024 At = 0.005
XO = 0 VO = 0
X0
u:=
V0

accel(x,xp,t) = M;eq-(F(t) - Keq-x - Ceq'xp)
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EQMOTO(t,u) :=

accel(ul , u2,t)

'—hlr—A

=0.487



. . Tinax
Nstep = ceil Al

TABELLA := rkfixed(u,0, T,y Nytep. EQMOTO)
v
tempo := TABELLA
SPO := TABELLA<2>
VEL = TABELLA"Y
ACC := accel(SPO, VEL, tempo)
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